VACTEC C60-18

/ > 26001 T>04198
260358 o — [ — T——26118 [E3]—26003

/ — i — e
26000 21826

~ \\26147 \26006
T === —
. 26013

\21 082 \26050

~

26102
B4t 26101|_-26195
= 0140/ [n} /
/E| DRY T g \ m
—
26020 \ / 262ff | '~20292
IN
26114 01400 22313
26023

a \
|CEE—1——" 26224

2625; \ 26245—T
26230 -
L °o~—01194 )
- N 26260
0\
26120 — 26249
20060
2601 1—
26265
C) = = ID’/O4112
28502— — N03063
CLEANAR PAPERBAG 02965~
-—20027
L OPTIONAL/OPTIONS ———— | \ / / 29006
28113 26227\ 26104\

AUG 99 I EMMNNNINGERNNNNR |

07605




VACTEC C60-18

ITEM

04198

01194
01202
01400
02965
03063
04112
20027
20060
20148
20292
21082
21826
22305
22313
22325
26000
26001
26005
26006
26013
26014
26020
26023
26026
26027
26029
26032
26038
26040
26050
26055
26102
26101
26104
26113
26114
26117
26118
26131
26141
26147
26195
26224
26227
26229
26230
26232
26233
26242
26245
26249
29006

DESCRIPTION

DOME PLUG

1/4-20 NUT

1/4 LOCKWASHER

HOSE CLIP

CASTER SOCKET

NYLON WASHER
AXLE END CAPS

3" CASTER

TENSION WASHER

1/2" RIVET

BRASS WASHER

CORD GRIP

MOTOR SMALL BI-PASS
3/8-16 ACORN NUT

#10 X 3/8 PHSHI-LO
UNIVERSAL MOTOR GASKET
ROCKER SWITCH
SWITCH PLATE

POWER OUTLET PLUG
MOTOR HOUSING BLUE
FILTER CAGE LARGE
FLOAT SHUT OFF

DRY FILTER ASSEMBLY
WET FILTER ASSEMBLY
GASKET TOP FOAM
LOWER ACOUSTIC FOAM
SIDE ACOUSTIC FOAM
10-16 X1 SCREW

BLACK WIRE ASSEMBLY
GROUND WIRE ASSEMBLY
CABLE 16/3 X 50
GASKET MOTOR SEAL
CLAMPPLASTIC

INLET AIR DEFLECTOR
INLET SWIVEL COUPLING
HOSE CUFF 1%,

HOSE CUFF1%TO1 14
#8 X 3/4 HL PHS PHILIPS
10-24 X %2 PHILIPS
FILTER GASKET
JOGGER RING

HOUSING GASKET
TANK ASSEMBLY

18 GALLON TANK

10FT HOSE 1 %2

DRAIN HOSE

DRAIN HOSE CLAMP
DRAIN HOSE PLUG
TANK DOLLIE

10" WHEEL

1/4 X 3/4 CARRIAGE BOLT
DOLLIE

10FT HOSE ASSEMBLY 1 %"

OPTIONAL/OPTIONS

26011
26120
28502

FILTER HEPA LARGE
CLAMPHEPA FILTER
CLEAN-AIR FILTER BAG (10 PAK)

PARTS LIST

QTY REQ

2

PR WONRRRPRPRRPREPRPRREPRPREPNRPRPRPREPREPNRPRPREPRNNNRRPRERRENRRRRRAMORRPRRERNNNNNRE®WER

e

MARCH 2006



	Back to Index
	Print Document
	Targa XL 18 Gallon.pdf
	Back to Index
	Print Document

	Targa XL12 C-W Dolly.pdf
	Back to Index
	Print Document


	Text29: VACTEC C60-18


